EXERCISE 5.4

Q.1If A={a,b} and B = {c, d}, then find
AxBand B x A

Solution:
AxB={a, b} x{c,d}
={(a, ¢), (a,d), (b, ¢), (b, d)}
B x A={c,d} x{a,b}

={(c, a), (¢, b), (d, a), (d, b)}

Q2If A={0,2,4}, B={-1,3},

then find Ax B, BxA,AxA,BxB
Solution:
AxB=1{0,2,4} x{-1, 3}

={(0,-1),(0,3),(2,-1),(2,3),(4,-1),(4,3)}

BxA =i{-1, 3] % {0,2.4)
= {(-1,0),(-1,2),(-1,4),(3,0),(3,2),(3.4) }
Ax A={0,2,4} x {0, 2, 4}
={(0,0),(0,2),(0,4),(2,0),(2,2),(2,4),(4,0)(4.2),(4,4))
BxB={-1,3}x{-1,3)

= {(-1,-1), (-1,3), 3, -1),(3,:3)}

Q.3 Find a and b if

Solution:

(i (a-4,b-2)=(2,1)
a-4=2 , b-2=1
a=2+4 , b=1+2
,

(il) 2a + 5, 3) = (7,b-4)
2a¥85= T 4 3 = b4

2= 7-5 , 344 = b

(iii) 3-2a,b-1)=(a=7,2b +5)

3-2a=a-7, b-1=2b+5
3+7=a+2a, -1-5=2b-b
10 = 3a 5 -6=b
10
— =2
3 b=—4
10
a=—
3
Q.4 Find the sets X and Y if

XxY = {(a, a), (b, a), (c, a), (d, a)}
Solution:

XXY = {(a, a), (b, 2), (¢, 2), (d; a)}

XxY ={a, b,e,d} x {a)

X =ila b.e;d)

Y=:{a}

QSsIfX={a,b,c}and Y = {d, e}, then find
the number of elements in

) XxY () YxX (ili) X x X
Solution:

No. of elements in X =3

No. of elementsin Y =2

(i) No. of Elements in XxXY =3x2=6

(i) No. of Elements in YxX = 2x3=6

(iii) No. of Elements in XxX =3x3=9



